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%DVH�\RXU�DQVZHUV�WR�TXHVWLRQV�37�WKURXJK��0�RQ� 
WKH�LQIRUPDWLRQ�EHORZ�DQG�RQ�\RXU�NQRZOHGJH�RI�FKHPLVWU\�

�����,Q�D�ODERUDWRU\�DSSDUDWXV��D�VDPSOH�RI�OHDG�,,��R[LGH�UHDFWV�ZLWK�K\GURJHQ�JDV�DW�KLJK
WHPSHUDWXUH��7KH�SURGXFWV�RI�W�KLV�UHDFWLRQ�DUH�OLTXLG�OHDG�DQG�ZDWHU�YDSRU��$V�WKH�UHDFWLRQ
SURFHHGV��ZDWHU�YDSRU�DQG�H[FHVV�K\GURJHQ�JDV�OHDYH�WKH�JODVV�WXEH��7KH�GLDJUDP�DQG�EDODQFHG
HTXDWLRQ�EHORZ�UHSUHVHQW�WKLV�UHDFWLRQ�

37� 6WDWH�RQH�FKDQJH�LQ�UHDFWLRQ�FRQGLWLRQV��RWKHU�WKDQ�DGGLQJ�D�FDWDO\VW��WKDW�ZRXOG�FDXVH�WKH�UDWH�RI�WKLV
UHDFWLRQ�WR�LQFUHDVH�

38� ( [SODLQ�ZK\�WKH�UHDFWLRQ�WKDW�RFFXUV�LQ�WKLV�JODVV�WXEH�FDQ�QRW�UHDFK�HTXLOLEULXP�

�9� :ULWH�D�EDODQFHG�KDOI�UHDFWLRQ�HTXDWLRQ�IRU�WKH�UHGXFWLRQ�RI�WKH� �LRQV�LQ�WKLV�UHDFWLRQ�

�0� 'HWHUPLQH�WKH�FKDQJH�LQ�R[LGDWLRQ�QXPEHU�IRU�WKH�K\GURJHQ�WKDW�UHDFWV�



%DVH�\RXU�DQVZHUV�WR�TXHVWLRQV�41�DQG�42�RQ�WKH�LQIRUPDWLRQ�EHORZ�

�����8QGHUJURXQG�LURQ�SLSHV�LQ�FRQWDFW�ZLWK�PRLVW�VRLO�DUH�OLNHO\�WR�FRUURGH��7KLV�FRUURVLRQ�FDQ�EH
SUHYHQWHG�E\�DSSO\LQJ�WKH�SULQFLSOHV�RI�HOHFWURFKHPLVWU\��&RQQHFWLQJ�DQ�LURQ�SLSH�WR�D�PDJQHVLXP
EORFN�ZLWK�D�ZLUH�FUHDWHV�DQ�HOHFWURFKHPLFDO�FHOO��7KH�PDJQHVLXP�EORFN�DFWV�DV�WKH�DQRGH�DQG�WKH�LURQ
SLSH�DFWV�DV�WKH�FDWKRGH��$�GLDJUDP�RI�WKLV�V\VWHP�LV�VKRZQ�EHORZ�

41� ( [SODLQ��LQ�WHUPV�RI�UHDFWLYLW\��ZK\�PDJQHVLXP�LV�SUHIHUUHG�RYHU�]LQF�WR�SURWHFW�XQGHUJURXQG�LURQ
SLSHV��<RXU�UHVSRQVH�PXVW�LQFOXGH�ERWK�PDJQHVLXP�DQG�]LQF�

42� 6WDWH�WKH�GLUHFWLRQ�RI�WKH�IORZ�RI�HOHFWURQV�EHWZHHQ�WKH�HOHFWURGHV�LQ�WKLV�FHOO�
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37� ±,QFUHDVH�WKH
WHPSHUDWXUH�
±,QFUHDVH�WKH
FRQFHQWUDWLRQ�RI�WKH
K\GURJHQ�JDV�LQ�WKH
WXEH��±*ULQG�WKH
PHWDO�R[LGH�WR
LQFUHDVH�LWV�VXUIDFH
DUHD�

38� ± 7KH�JODVV�WXEH�LV
QRW�D�FORVHG�V\VWHP�
±*DVHV�DUH�HQWHULQJ
DQG�OHDYLQJ�WKH
V\VWHP��±7KH
UHDFWLRQ�LV�QRW
�UHYHUVLEOH�XQGHU
WKHVH�FRQGLWLRQV�

�9�
�0�      ± )URP���WR���

±)URP�]HUR�WR�RQH

41�      ( [DPSOHV��±�
0DJQHVLXP�DWRPV
ORVH�HOHFWURQV�PRUH
HDVLO\�WKDQ�]LQF
DWRPV��±�0J
R[LGL]HV�PRUH
UHDGLO\�WKDQ�=Q��±�
0J�LV�PRUH�DFWLYH
WKDQ�=Q�

42�      ([DPSOHV��±
(OHFWURQV�IORZ�IURP
WKH�PDJQHVLXP
EORFN�WR�WKH�LURQ
SLSH��±�(OHFWURQV
IORZ�IURP�WKH�0J�WR
WKH�)H�WKURXJK�WKH
ZLUH��±�(OHFWURQV
IORZ�IURP�WKH�DQRGH
WR�WKH�FDWKRGH�LQ�D
YROWDLF�FHOO��±�IURP
WKH�EORFN�WR�WKH�SLSH




